Matrix Multiplication
To Multiply matrix 4 by matrix B:

*Multiply each Row in matrix 4 by each Column in matrix B
*Multiply corresponding entries and then add the resulting products
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Matrix Multiplication
To Multiply matrix 4 by matrix B:

*Multiply each Row in matrix 4 by each Column in matrix B
*Multiply corresponding entries and then add the resulting products
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Matrix Multiplication
To Multiply matrix 4 by matrix B:

*Multiply each Row in matrix 4 by each Column in matrix B
*Multiply corresponding entries and then add the resulting products
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Matrix Multiplication

To Multiply matrix 4 by matrix B:

*Multiply each Row in matrix 4 by each Column in matrix B
*Multiply corresponding entries and then add the resulting products
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Matrix Multiplication
To Multiply matrix 4 by matrix B:

*Multiply each Row in matrix 4 by each Column in matrix B

*Multiply corresponding entries and then add the resulting products
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Matrix Multiplication
To Multiply matrix 4 by matrix B:

*Multiply each Row in matrix 4 by each Column in matrix B

*Multiply corresponding entries and then add the resulting products

R -1 1 3
3 4 13 B B
2x 2 2x%3
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Matrix Multiplication

To Multiply matrix 4 by matrix B:

*Multiply each Row in matrix 4 by each Column in matrix B

*Multiply corresponding entries and then add the resulting products
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We had:

2rows 4 =

How about B.A:

B

3 columns

I
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Result:
2 rows by 3 columns
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For the following matrices, using the multiplication of Row by Column :

2 2 -1
.11 5
= s & = [l s =] 2

a) Which of the following multiplication is possible ?
b) Ifitis possible, find the dimension of the resulting matrix

A.B A.C B.C CA



For the following matrices, using the multiplication of Row by Column :

L 1 B
2 1 =l

s & =
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a) Which of the following multiplication is possible ?
b) Ifitis possible, find the dimension of the resulting matrix
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For the following matrices, using the multiplication of Row by Column :

L'E &
2 1 =1

a) Which of the following multiplication is possible ?
b) Ifit1s possible, find the dimension of the resulting matrix
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For the following matrices, using the multiplication of Row by Column :

2 z =i
1 1 3

A= B=l| » @@=l 2
&k = 0 0 4

a) Which of the following multiplication is possible ?
b) Ifitis possible, find the dimension of the resulting matrix
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For the following matrices, using the multiplication of Row by Column :
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a) Which of the following multiplication 1s possible ?
b) Ifit s possible, find the dimension of the resulting matrix
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For the following matrices, Find 4.B and B.4 if possible:
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